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#16 Answer the following *

Assoccer ball has a diameter of 22 centimeters.

Which of the following is closest to the volume of
a soccer ball?

F 1774cm?

G 2933 cm*

H 44,579.52 cm?

J 557231cm?




image8.tmp
#6 Answer the following *

i Laura wanted to show her mom how much she
appreciates all that she does for her by painting a
picture that measured 11 inches by 14 inches.
Before starting, Laura’s art teacher suggested that

Laura dilate the painting by a scale factor nf% to

make the painting a perfect size for hanging on
the wall. Which statement is true based on the
teacher’s suggestion?

F The area of the wall painting would be  the
area of the original painting.

G Thearea of the wall painting would be 5 the
area of the original painting.

H The area of the wall painting would be 3
times the original painting.

J  Thearea of the wall painting would be 9
times the original painting.
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#14 Answer the following *

IS EREREEER

What is the relationship between rectangle
A'B'C’'D" and rectangle ABCD?

F Rectangle A'B'C'D'is a dilation of rectangle
ABCD and the rectangles are congruent.

G Rectangle A'B'C'D"is a translation of rectangle
ABCD and the rectangles are similar but not
congruent.

H Rectangle A'B'C’D’is a dilation of rectangle
ABCD and the rectangles are similar but not
congruent.

] Rectangle A'B'C'D'is a reflection of rectangle
ABCD and the rectangles are similar but not
congruent.
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#1Answer the following *

1. Which representation does not show y as a
function of x?

€ {(2.-2.0,-2,0.-2, (L -2)
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#3 Answer the following *

The table below shows the sales tax varies

directly with the price.
Sales Tax
s | 4.00 | 800 | 10001400
| 35 | 70 | 875 [1.225

What is the sales tax of an item that cost $1.60?

A $0.16

B $0.016

C $0.14

D $140
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4. Triangle ABCis dilated to form triangle A'B'C".
y

Which rule best represents the dilation applied to
triangle ABC to create triangle A'B'C"?

F ) - (+2y+2)
G () = (2x,2y)
H o @y-(xdy)

] (x,y) = (2x,3y)
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#2 Answer the following *

. Which equation represents a non-proportional
relationship?
F -1x+3
—3x+
G 3x+3
H 3x-3

J  Allofthe above
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#12 Answer the following *

NOPQ.

‘Which algebraic representation should be used to
find the coordinates for Figure N'O'PQ’ the
reflection of Figure NOPQ over the x-axis?

F ()= (xy)

G ()= (-xy+1)

H ()= (x-y)

] @)= @y
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#10 Answer the following *

. Mr. Vince wrote the following equations on the
board.

. y=—§x+z

.« y=10x+7
o y=i+x
o y=4+3

Which statement about the equations is true?
F  Only one equation represents a proportional
relationship.

G Two of the equations represent a non-
proportional relationship.

H Al of the equations represent a non-
proportional relationship.

] Three of the equations represent a linear
relationship.
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#5 Answer the following *

;. Which of the following actions would not
preserve orientation of a shape?

A

Rotating the shape 360° clockwise.
Reflecting the shape across the x-axis.
Dilating the shape.

Translating the shape 2 units to the left and 4
units down.
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#11 Answer the following *

‘Which situation is a non-proportional linear
relationship between xand y?

A The diameter of a circle , is twice the radius,
X

B The number of girls x, in Ms. Bailey’s class
is 8 less than the number of boys, y.

C Ms. Joyner bought 5 pairs of shoes each
costing the same amount, x dollars. What
is the total cost of the shoes, y?

D Arecipe for cookies uses 2 eggs. How many
eggs, , would x recipes use?
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In the triangle below, m£1 = 42° and £4 is an
exterior angle with a measure of 81°.

2

1 34

Which statement best describes the angles in the
diagram?

A m¢3is equal to mz4, because supplementary
angles are equal.

B m«2is equal to m4, because alternate
interior angles are congruent.

€ me2is not equal to the sum of mz1 and
me4.

D The measure of 24 is equal to the sum of the
measures of 21 and £2.
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. Which number below is greater than 4.1 x 1027

A 39x10%
B 42x107*
€ 42x10?

D 64x10*
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. Erin surveyed 20 students at Belfort Elementary
School about the number of minutes they studied
for the math test and their score on the exam. A
sample of the results are recorded in the scatter
plot below.

Study Time and Test Grades

15 0 45 6 75 %0 x
Study Time (min)

Based on the trend in the data, approximately
how long would a student at Belfort Elementary
School have to study in order to score an 80 on
the exam?

(O 40MINUTES
(O 80MINUTES
(O 20MINUTES

(O 60MINUTES
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#13 Answer the following *

Trapezoid ABCD is similar to trapezoid EFGH.
o

Which of the following is not true about a shape
and its dilation?

A The dimensions of the dilation are
proportional to the corresponding
dimensions of the original shape.

B The ratio of the side lengths in the original
shape is equal to the ratio of the
corresponding side lengths in the dilation.

C The dilation of the shape always results ina
figure that is larger than the original.

D Ashape and its dilation have congruent
corresponding angle measures.
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. Ticket Stop charges a $6 service fee to buy tickets.
Each upper level ticket costs $45 for a soccer
game. Which equation represents the cost of
buying tickets through Ticket Stop?

A y=6x+45
B y=6x—45
C y=45x+6

D y=45x-6




